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SA - ZE . BR(8) - HRAR - BES of v e HIDE2

Nl 4,832,850 4,282,950 549,900

s3 - MUK x4 4,832,850 4,282,950 549,900

AT R ELE (AT 22 SLE3A) 2,141,650 1,997,750 143,900

AHEER 28 2,131,650 1,884,750 246,900

201 fer= 3| 1,655,650 1,446,250 209,400

01 At 2|l 65,250 55,250 10,000
O=2%3 Fald === 30,000
O IE s ZHIER= 30,000
Obli==Xl XS &H 4S7 5,250

02 S3=4gl 1,590,400 1,391,000 199,400
O&IINE=Z 2,000,000 122 24,000
Og==EAE= 100,000,000 «12& 1,200,000
Oostea 300,000 ~4CH* 122 14,400
OSHES 2AZAMOUAIAYE RAE 22,000
OHIERZE MIAE RA2+ 90,000
OLHE Al M =2 200,000
O&HE Jt2a X2 30,000
OL AT MI|tE e e 10,000

401 AlZHIZL SO 476,000 438,500 37,500

01 Al&H| 476,000 438,500 37,500
Oute - sSHA=A 2+ 300,000
O/HE AIE=StEEH 176,000

oligisl 10,000 113,000 103,000

801 GBI 10,000 113,000 103,000

01 Leroldlbl 10,000 10,000 0
Ooullglbl 10,000

DA RIAHE EX] 29 (AFEXI22 | SESH) 1,162,600 999,600 163,000

H==HXelAl& (L A THAI A EEXT) 1,162,600 999,600 163,000

201 er23 | 181,600 147,600 34,000

2 s5=4g4l 181,600 147,600 34,000
OXIINEZ 9,000,000& ~12& 108,000
Ostle= 300,000 x1CH+12& 3,600
OMSE=HV1I| "X HeES 70,000

307 212+01& 981,000 852,000 129,000

05 2ItRIE = 981,000 852,000 129,000
OHl=xcld 22Ud S 981,000

DUMGACHIIILAASR] 2S (MPSHX2LISES) 809,900 756,000 53,900

==Xl Al (L A XA S I A EHXT) 809,900 756,000 53,900

201 er2 3| 149,800 132,000 17,800

2 s5=34l 149,800 132,000 17,800
(OFSPIVN=d= 6,500,000& * 12& 78,000
Ostes 150,000 x1CH* 12 1,800




SA BRI

B =2 - A X4
Chelr WMXASSHIMI LA 2 (A2 SESAH) EERCED
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OMSE=ED1D| |X2e HeES 70,000
307 212t01™ 660, 100 624,000 36,100
05 glzt2(&= 660, 100 624,000 36,100
OH=xcld 2cItid 59 660, 100
DAE AP ET] 2 (AP X2 SESH) 718,700 529,600 189,100
H==X oAl (DA ESHAAET]) 718,700 529,600 189,100
201 =3 60,000 87,600 A27,600
02 S3=2g4l 60,000 87,600 A27,600
O&IINEZ 5,000,000& « 122 60,000
307 212t01™ 658,700 442,000 216,700
05 elzte(& = 658,700 442,000 216,700
OH=xcld 2t 89 658,700




